



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{6}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) =$$



Nome: \_\_\_\_\_

Encontro: Data: \_\_\_\_\_ Pontuação: \_\_\_\_\_

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) = \frac{1}{20}$$

$$\left(\frac{1}{5}\right) + \frac{1}{2} = \frac{7}{10}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{3}{4}\right) = \frac{7}{20}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{29}{40}\right)$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{3}\right) = \frac{4}{9}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{4} = \frac{13}{16}$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} = \left(-\frac{71}{320}\right)$$

$$\left(\frac{2}{5}\right) - \left(-\frac{1}{6}\right) = \frac{17}{30}$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{6} = \frac{7}{36}$$

$$\left(\frac{1}{6}\right) + \frac{1}{5} = \frac{11}{30}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) = \frac{199}{320}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} = \frac{37}{75}$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{3}{5}\right) = \frac{7}{20}$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{5}\right) = 1$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{49}{135}\right)$$